0,45 m

—(j | —w—
N *uchtpuntx A M >-
¢ \ 1
. . A G
5 1,71m = o
5 X S £l
5 . < e O O§
: E _ o S
g ov gcY 4001m . &) A -
e AL
o ale S0 - _‘
o ——/v N~ | 0,86 m £ |
Afzuigmond % _
vent. |
(o} f /\ ke T am K
N L4 -
— | —
1 ; ’ ‘
& 1,54 m _ q ~ Jﬂjﬁjg‘ 1 J
< i ;
> E AD -~ \ d g m
Bel XS E
o K sv — o) 0
Q0
j*(z - O E'] S
\ A HC kopast
0,98E'LI 0,98 m : | - nﬁ
S g S 4 o
N 3 2,40m | N
£ : B
o\
N T Xz 3 = oven 6'38 m o
Q] X[ ‘
1,96 m =
TEL/UTP 2= .f 7
.cv>- .
z Telenet/proximusty. MicNgolf :
Y 1 v z
2

-G

—+ ddDN15




